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@D A frmer harvestad 1 total of 364
pumpkins. The pumpkins had an
sverage welght of 10.9 pounds.
‘Which of the following is closest

o the total weight, in pounds, of
the pumpkins the farmer harvested? *ie 2k +3
A 3,000 Which of the. following expressions

s mu-mum-{u
’{:? r\/a e YL S+ :‘
D.%; b C:‘,:";tg ks,r?{" \/ ,‘
Syl
SSk+3

) Ashiey rarveyed 20 people st random
about the number of television sets in-
thair housebolds. The rasults of her
survey are shown in the line plot below.

TG Sh . b
,5@0 wé 183 °x
x x

@ Which of the following integers is
closest to the value of the expression

below?
Vier - 5

R XX
Hxx
RKXX XXX

A2 x
B. 5 X

c 9 ) @ A
0 1 2 3 4 5

Numbér of Television Sets

por Household

XXX

‘Based oa the line plot; what Is the mean
‘mumber of television sets per household?

N
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@ A triangle is shown oo tha coordinate
plans below.

1 uakt

H
—TT, Tt vkt
=L 9 -
g ]
O Y
L b
! BRR ¥l 8 -
gy )
n . . 9
FEEEAT T N

‘What Is the area of the triangle?
« A 21 square units
_--B.-26 square unlts
€. 28 square units
D. 56 square units

@ The diagnm below shows a rectangle
and its dimensions.

) T
L= 6

1

; 24 In. {

A square has the same area as the
- rectangle. What is the length of each
side of the square?

// N A.f\
A Rin ) 2R )
BoisE
C. 30 in. -

D. 36in

5 i
/J/

@D The bowling scores for 9 fricads ace
shown in the box below. g

score is 95. Which seatement best R
explaing why thé mesn score is grester Lo
than the median score? \ 7

" 1m0 & % 0
32126 14 &0
95 1 95 ag
e | <

: . P 4

The mean score is 108 sod the mediaa 79 A

A. The score of 95 occun twice. \Z
B. The data set includes oaly a few
scares. .

. C. The minimum scare is well below
o~ the other scores.

D. The muximum score is well sbave--.
the otber scores.

(> aya is buying a new car that has a
price of $28,495. She Is required to
pay a sales tax that Is 6.25% of the
car's price.

‘Which of the following estimates is
closest to the dmount of sales tax Jaya
will pay for the car?
A. S1200
C_C. 81800 <
D. $2,100



You may use a calculator on this page!

€D Hookay law states thai the force naeded
to stretch & spring varles directly with
the length the spring is stretched,

A force of 20 newtons will stretch a
spring

memmhmsm!pﬂnﬂ

Cas/  yzkx
B. 20
C. 100 -
D. 240 g - k<7/m
S _ X L=
lo T o \ 1 \/-
20x=30°
X1 773 (éo ‘

| Y=g
€@ The table below shows the numbers of
televisions

s0ld at a store in different
price ranges last mouth.

Televisions Sold at a Store Last Month

Price Range “Number of Televisions
$100-$149 ]
$150-5199 3
3200-5249 5

+ $250-3299 4
$300-3349 1

‘Which of the following could be the
medlan price of the televisions sold at
the store last manth? 100 -149

A S140 100-149
00 -149
®) \
o-149
D. s240 '\°N,“"
\00 - 149
(o | 1027143
\$0-199
lo-
\So-199

(o149
| a2

MAN

265 -9
o024y
“Lso- ’L‘“?

Y ) o- 299

\

7 Lo-2

K“w - ?
0-299

@D A gt cireular cons and some of its

messruments are shown in the dlagrum
‘Selow,

following is closest to the volume of O

the cone? ,‘L

Faso Vst

=T T4 @m)(4)
T o)
'5'].@’0 V= \l’ﬂ" )

€D In the equation below, k and m represent

rational numbers.
n =1
Which of the following must be true?

/e\mgkoxmiseqmltol

/B//MMH

QC k is the multiplicative Inverse of m

PiAre Dot the-Sume ASGEEE
.from 0 on a number line

©,

3920° 34g
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@D The radius of a large sphere Is B times
the radius of a small sphere.

The surface area of the large sphere is
how many umas the surface area of the
small sphere? e o
A8 —)
B. 12 ]

_L “//l 1

\DSXI KPP
‘ {n(nt 4=
o
R

Y x
Bl LA

€ In the diagran: below, line £ is a
transverse) of lines f and g.

Which of the following relanonsups
proves that lines /' and g are panailal?

Y 7;'(/ 3}

\
Lokt 1:_&:4 Ulﬁéﬂ/&(;a SHows 1

w U UNIS UP 4w THEN
T@ﬂgfﬁmv Ve THE Y-AxiS 2

® n.-‘-uwmh—utwqu-“n-pﬂ.

w lorsi wlaegle PQR.
—*:z,—ll_uh.hm.u—u-dd-&rﬂrn.ﬁ
A g i B 53 c b
L o L f-id
IR - =
: A o
a NI
7 pEmexen sl
weaf Ll ¢l
'H[-'- qaus
AL A

@D In the disgram below, the dimenslons of
1 student ID card are shown rounded to

the nesrest -
z 75 1 497 )
il

‘Which of the following could be the
sctual ares, In square inches, of the
froat of the card?
. ~
A 8 vilad 12.5Y2 8
B. 85 LN ELRT
G 155 A -
NS WEN - & -
D16 A 2051
( )"‘ Y Uy
ul g <)
(s 72— °
{/. O ]



@D A rectangle has a length of @ The first four terms of a quadratic

15 centimaters and a Width of seqiance; kre, shown belaw,
8 centimaters. 3 6 9 14 2,...
‘Which of the following Is

;lxe;‘”tomndlﬂﬂhdmk - :::lllurllsnl:dmmumothh
an area equal to the area quadratic sequence’
of the rectangle? " .

T \
A. 3 centmeters r l’bo A‘ 3 ,l: g 3 -
E=TE e 6
T centmat r g 37 e 3w M 2
D. 19 centimeters

e
c G M-
= @ Big

® Ay B
\y, £ 'f‘l,‘
NGO TR
: @D Which of the following Sures bas
. @D A student is knitting sweaters to give 90° rotational synmmetry?
as gifts. The time It takes the student : .
to knit each sweater is 10%¢ less than A
the time it took the student to knit each
previous sweater. It took the student
14 hours to lmit the first sweater.
Which of the following is closest to ths
tme It will rake the student to knit the B,
third sweater? )
A 102boms !¢ R

¢ 7B 113 bours L.

| o ——
2n0 = \I‘.:(,Oé @

2.4 . : —
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o The circle graph below shows the percentages of the types of colns in & collection.
Types of CnlmlnCollocuon

Thera are 700 coins in the collection. T
wxmumwmofsnmunmywmmmumv

ooy 05)E=s )
=S,

‘,“_,.7_._‘\1 STAND 4 LRy QUAZTEILS

@ In the diagram below, rectangle MVPQ Is similar to rectangle RSTU.
M

[] = »
~_—’/' —
Based on the given dimensions, what is tha length of OP?




@D The children's pool and the sdult pool in « recrastion censer ara both in the shepe
f
prisms. In the disgram balow, the two rectangles represent the cmm:p:fm

dunhllpod.
y (2)
|C‘hih:usi =
pool

D=z Aclt /7 ’—;

pal | 2%

D=4z

Define x and y as fllows:
* x = the width, in yurds, of the children’ pool
* = the Jangth, in yards, of tke children's peol -
l.\\'memexynnmumgzmd)mrepmthunufm&udrm!mL A )(7/
mmhpodhu&lbumingmm . v

2 * The width of the adalt pool is 3 times the width of tha children’s pook
* The Hagth of the adus poo s  times ths laogh of the chikrecs ool _ A= &

hWnnmspnsmnumgxmd;mnpnumh:ruchhuhllpo& A %\(

[ \\'hn')sdunnou!!u orea of the of the adxhpwl"shmut”.» —— V
. explain how you got your answer. El‘—é > i Xy vg. /( 6>v\

Boch of the pools will be filled with wal

-The-depth of
the chikiren's pool. :

t pool is 4 drmes the dzpd:

d What is the ratio of the volums of water in fhe children pool to the voluma of water in
the edult pool? Show' or explain how you got your answer.
- - AV (\) \‘
N=XYzZ _ \/ < (oY 2 Y42
CHWPRENS < - AVVLT /
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Youmay use 8 caleulator on this pags! You may use a calculator on this page|
(]
A ladder iy leani e i i . Thegmhhb\\'mmy.hhngmhbﬂohhﬂ.xumnnuduhllwulhm\s
D leaning against the side of an office building, as shown in the diagram below. @ upward from a bridge that croeses s niver.
A Eyllght of Ball over Tima
160 — 12| - i
Yy — 14 !
28 i
wz
96
80 i 9
LY _Z=H
Yg —
32— | -
6ok .L
R

=

fsht {in feed)
b3

v

. 345354
The top of the ladder reaches a poi buﬂdin’." t i : round. . Tinie \{in secamls)
m«rmmﬁxurwmﬂmﬁmmﬁ;.:’“mmh' L VT e Y-t 2 i "

- " s { What 1& the y-witeenupl of th Show il o you get your muswer.
. Wi 12 equuion tat coud be usedto fndx, e lngih in et of e adine,_ K=\ 16 44T Coa Wit i the y-ucterrapl of the graph® Show or explailt W sou get y

T L
b. What dces (he y-intercept rapsesent m Tho context of tnis lilmlumr" WHAT ,m b3

RosEnT 2

b. Use the equaticn you wiots in part {2) te nd x, tha lengt, to i-enth of 2 Toot;- =
ot e Sbv'g‘;_:;hm T e X= \é S g{f t. Alter kow many seconts did the ball 1each ity musimum hviglt? Show or expla how you
A second ladder that is 98 F2et in length w40l ba leaned against ding. Toe botomn ot vou annver &_y\oW toriz Dpes 1T TAKY” To REACH FAY. HEIZNT
of the second ladder wil! te placed 7 feet from the base of the building. d. What 16 the maxinnum height, in feet, the ball reached? Show or explain how you got
¢ What is the beight, 10 the nearest enth of « foot, of the poioc the tap of the seccnd ladder youramwwer. R usr [ THE MAX YE1ei T 2

will reach ca the building? Skow or explain hew you get wour answer. »
* o After kow many seconds did the ball reach the surface of the river? Shour or explain how

- 2572 3
X =] <2 - s you get your answer.

R_ Ha Womé Yops IT TAS 10 PEACN
X= ) L fed

THE SvrFAck F THE RIVERT
X\ = frer 5 ] LSS

o et
X = ~®Q . FATT o - o T *;

Y= LT

VT sl

AT T AT T s THE X - Lt

o RT -
FHI-| -

Pars =,
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€ "Which >f s fallewing ,'no:
Tepasens e soluess of e irrem
of mequadinas balya?

2 osst o LIHICH 6
o (s A SOWRIN

@ Which of the following is not a solution
of the 2quation below?

3xf - INx—=2)=0 é-j
/Mx =0

WHICH HAS AN X-INTIWP) °F - 2.2

© VoW

Fepmmsants o lma hrt bus 12 r-huteccen of -2?
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ma use a calculator on this {
D - A linear equation is shown below.

2
1Z= 2Zxt1 yikegiz Yz TXIT
T R What Is the value of x when :
-1 7 at value of x &

- .
NE=2, gy CFS Sz
S N
c < s : o F R
= =X /o |55) $ s -

3 :
. -/ D.ls;\'( - (€]

2z Zx 1 K \_/

2 )

) N

oh

@ 1t y#0, which of the following is € Which of the following is equivalent to

equivalent to the expression below? the expression below?
157 K 9 -9
W&‘—L ~ A-n-5 o
A_37 5.3 B -2 +5 LT
B C-% -1
C. 10y D - 4l0
D. 105* T~ (//
(B) B S

@ One solution of the quadratic equation below is x = —3,

P2 +3x42=-9
What is the other solution of the quadratic equation?
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You may use a calculator on this pagel Detens ?

ToMAS MADE A SUTTTLPLOT oF SOME MTA. Sl

WE DETERMNVD THE Y-INTEUWERT OF ThE Ling

b ety OF BEgT

Which of e bllowmg el b e susawplet Tombe made? (= 'S

NEGATIVE

Tea sercarplas bekew shows o 15, Vrmane 4 mogmenss, = dejust Fiiseshey, @
® @ £I0 gune cad e 25008 o S pr (Wit orom i

‘@D Which of the following equations is
true for all ratlonal number values of

Hat Chocolate Sales

x,y, and z? ifn S (,JN '(Ab‘_l

Chso+azora Dxyixz=ytxe g =1l AR,
SO FD = GFm xpINZ =XZayz jall Ny 0
T+ =yt Xy AXZ T Xy 2 ¥ oo vt AiT2
B D) = (oXm) Xy AT X2 ? Gompiniry
. Tk 3d B 20N g Rt e the b S Lew 1 £ Coy du?
Myt Chucadain hstes [

Hat Chacolata Soley

(&) "

€@ Ben researched the populstica of his
town for each of the last ten years,
He created a scatterplot of the data and
noticed thiit tbe populstion increased by
about the same amount each year, Ben
will dstermine the equadion of the line
of best it for his data.
Which of the followiug stscements
abeut the equation of the line of best fit
is true?

[h r ZerQ
B. The slope is positive.

D. The slope is undefined,

o Hot Chocalate Sales

"t .
S N
N i

RN
Tempersture ~
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€Bp Ms. Culjak is giving her students their scores on ibe last math test, She provides each
student with an expression thar has & value equal to the number of points the student scored
on the test.
Leo must score a minimum of 30 points on the test to maivtain a B in the class. The
expression below represents the number of points Leo scored o2 the test.

46343268 Y[ 42 +5(2-é)7'

a. Did Leo score enough points to maintain & B in the class® Show your work or explain how

yOu got your answer. ""{”» .)!_.‘}l _1‘““7 IL) IR —’/iz—y\.{((’ﬁﬁ
Gerard estimates tha he scored 90 points on the test. The expression below represents the ™. '
actual number of points Gerard scored on the test. 2
9ra(412(3-5)"] 34

9+ 8(4+2(3-57]-34
b'. What is the difference between Gerard's estimate and the actual number of points he ecored
. ,on the test? Shew your work or explain how you got your answer. 9%-9 1 7 5 f
13 g 2fg) " §'Il|‘ P PR 4 L povits
Tia was given the sxpression below 1o represent the number of points she scored on the test.

2%-10:10-8 100~
Ho0:00-8 4 0-§
B—‘.-‘L
¢. Tia claims that the expression cannot represent the number of points scored on the test.
Explain why Tia's claim is comect. 87 ) T AT

dll L

’ LR -
Ms. Culjak coafirms that Tia's claim is correct. She says Tia's cx;a
parentheses. Ms. Culjak also says that Tia scored 76 points on the test,

-d. In your Student Answer Booklet, copy Tia's expression and insert one set of parentheses in
the expression so that the value of the expression is 76.

|0
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© o ALY SHOLS 4 oF YIS OF \orie UXPUUIUNCE (. YEARMY CALARY, t.max use s aleulator on ths pagel : :
abla below skows tha nembar of 0 Wack EYper:: 0d the yearly 13
UL Cf &, of § pacple who have g pecs HEeE Fusy ko, D Achefinmhn'gZDpound:offruilnhdtole!linhislhq:.'rhechcfwﬂlueonlygnpes
Years of E - + . and blueberrics in the fruit salad.
e, _m ___.__‘__inf.. .id_\_“LY . _: S — Let x and y be defined as follows:
Years of Ex |
parience, x 9|19 |s|5 w0 ;l‘a‘ 20| 20 | * x = the numbet of pounds of grapes the chef will use
Yearly Salary, ¢ (ia ds of dollars) | 25 |30 | 35 | 40 ) g b R * ¥ = the number of pounds of blucberrics the chef will use
On&_llzidilymsrdm.-\nmraaakh, Y tha 1, tae axas, ac3 tae labals essotly 31 2. Write an cquation in terms of x and y that can be used to represent the total number of

Iaowa w Ppounds-of fruit salad the chef will make.

¥ me °r:¥p."vk‘°l° .m““rl‘ Slllr\‘ Grapes cost $2.50 per pound, and blucberries cost $4.00 per pound. The chef speat a total of
L;':“""' A £ B . 359A00formpesudbluebenielforlb:fmitsdnd.
F X N, . % 3 BN C - Y7 s . s .
- 75 "1) b. Wntennequnnonm!ermsofxmdythncmbemdtompnunhhemulcon.,in
- W= ~ dollars, of the fruit salad.
Nt Lo~-s
B B c. Uuyuurmwmﬁumpm:(l)md(b)wde!uminelhcnumberofpwndsofgnpulnd
o =33 membnofpmmdsofbhebaﬂesdleclufwﬂluubmhlbcﬁuiz-hd.Showorcphin

$

£

Yearly Salary (in thuissnds uf dnllscs) -
- “w
b ¥

-

Yesrs of Experiance [ MAM A

A Or the grid you coiad fato YOUT Studeat Arswer Beeidat, meka 3 sestterples wilrng tha \ eiv sy o - ‘
<data fror che tabls. . OIZ.A-LJ A I - / U (e A (ye no |
’ : 5 ¢ 2 . ~a / [T
& Draw 1 kra of ben it = he dmanﬂnem!xpmyaumdampm @j. LN oF - . / ) |

Rexr ¢ / AR T I et |
.:.Cumm-clhnﬂ;yuxmtnpmmtnynd:‘:nb:smﬂynhn‘.l.r.'.bam:dn! -T . [ DERE-AY r(‘ VAV GRS R [

doliars, Joo-e pacien who has tha sam# Job and 13 yeass of wuck expecence. Shaw ar ’ L ) e - |
axplain Low vou got your axewar ’\\/;’/UIDM? i ~Hy = = s st
& Writ2 an aquaticn at Teprei2ns e 1oz of bast £t you drew on the scatierplot. Skow- or g,(u/z_}, raz’ N 4L &

explaiz Low you got vour sz 15 - , s e 7 :
— }//Lﬂt?rap e = =5
e e 6o-éf'h \, worke Bpaeiny

TH UsAnD , —_— pr -
pen. e ERATION For_ o
e e fas e SoUX. LK OF Rsr AT SERE

O 0y

\ y= b+ L PAnT &)
yzér )
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